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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

arning: col

[’ PHC',

"FVIPH' ]

is missing

10

20

30

40

50

60

70




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-10_0
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P3-10

BYiE) | GEBATIK () | ERE (EA/H) | EREE(B/R) | XS R

06:50 288 150.0 2. 888 RS FiHAe06:50 KREIEF (KREERE)
07:25 288 150.0 2.888 RS FhHA@O7:25 kENFEF (RAfREE)
08:35 288 150.0 2.888 RS ThHA@O8:35 KENFEF (KAfREER)
09:25 288 150.0 2. 888 RS FiHRe09:25 KREFEF (KREERESE)
10:05 288 150.0 2.888 RS FhHA@10:05 KENFEF (RAfEEER)
10:40 288 150.0 2.888 B ThHA@10:40 KENFEF (RA{EEEE)
11:15 288 150.0 2. 888 RS FaHAe11:15 KEIEFE CGRAFEER)
11:50 288 150.0 2. 888 RS FaHA@11:50 KENFEF (CRAfEEIER)
12:20 288 150.0 2.888 B ThHR@12:20 KENFEF (RA{ERENEE)
12:50 288 150.0 2. 888 RS ThHAe12:50 KENFEF (KAHEEE)
13:20 288 150.0 2. 888 R5| TiHAe13:20 KRHIERF (RAEHS)
13:50 288 150.0 2.888 B5| FnHA@13:50 KREFEF (REAEEE)
14:25 288 150.0 2. 888 RS ThHAe14:25 KEIEF CGRAFEERE)
15:00 288 150.0 2. 888 RS FiHAe15:00 REIEF (REERE)
15:40 288 150.0 2.888 A FHAe15:40 KREEF (KBAHERKSE)
16:20 288 150.0 2. 888 RS ThHA@16:20 KENIEF (RAHEEER)
17:10 288 150.0 2. 888 RS TaHA@17:10 KENFEF (CGRA{EEEE)
=21t 4896.0 (17)%) 2550. 0 3 UFHKEC: 2080.0, PH: 6.0

HEEIKECE (1887.0 vs 4143.0) i35




FRV (ml plant-1)

ET (ml/hr/plant)

P3-10_0, Day=69 (2025-06-10)
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P3-10

BYiE) | GEBATIC () | EBE (EA/) | EREE(B/R) | XS ERE

05:30 283 150.0 2.888 FH| 1Bi&@05:30 Bah (RAEREE)
06:25 283 150.0 2.888 FH| 1RRi%@06:25 Bzh (KAERSE)
08:15 283 150.0 2.888 |Z=| {Ri%e08:15 Bz (KREAEHE)
09:45 283 150.0 2.888 |Z=| f{Ri%09:45 Bz (KREAERRE)
10:55 283 150.0 2.888 [Z=| 1Ri%e10:55 Bzh (REEESE)
11:45 283 150.0 2.888 |Z=| {Riget11:45 Bz (REAEHE)
12:45 283 150.0 2.888 |Z=| {Ri&e12:45 Bz (REAEBE)
13:40 283 150.0 2.888 |/hiu| {Ri&e13:40 Bzl (REAEHSE)
14:20 283 150.0 2.888 FA| {Ri&e@14:20 Bz (GRAEREE)
15:00 283 150.0 2.888 |Z=| {Ri&e15:00 Bz (KREAEHE)
16:15 283 150.0 2.888 |Z=| {Bi%e16:15 Bz (REEHE)
23t 3113.0 (110%) 1650. 0 32 F%KEC: 2080.0, PH: 6.0

MERRNER S STEAERSE (184.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
H#ERECE (1897. 0 vs 4205.0) iH 5
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P3-10_0, Day=68 (2025-06-09)
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P3-10

FfiE) | EBIAT (FD) | ERE (BEA/) | BEREE(B/R) | XS ERE

07:00 283 150.0 2. 888 RS {Ri&@07:00 Bz (REERSE)
07:30 283 150.0 2. 888 sl {Ri&e07:30 Bal (REERHE)
08:00 283 150.0 2.888 BE| {RRi%@08:00 Bz (RFEAEREEE)
08:50 283 150.0 2. 888 RS {Ri%e08:50 Bz (REAERESE)
09:25 283 150.0 2.888 S| {Rig&e09:25 Bl (REAEESE)
10:05 283 150.0 2.888 BE| Ri&@10:05 Bzl (REAEHE)
10:40 283 150.0 2. 888 BE| Ri8@10:40 Bz (REAERSE)
11:10 283 150.0 2.888 Bl Rige11:10 Ba) (REEESE)
11:40 283 150.0 2.888 S| Rige11:40 Bz (REAERSE)
12:10 283 150.0 2.888 B Rige12:10 Bz (REAERE)
12:40 283 150.0 2. 888 Bl Rige12:40 Bal (REAEESE)
13:10 283 150.0 2.888 el Rige13:10 Bzl (REAEHE)
13:40 283 150.0 2.888 BS| 1Ri%e13:40 Bz CGGREMRESE)
14:15 283 150.0 2.888 S| Ri%e14:15 Bz (REERSR)
14:45 283 150.0 2.888 BE| Rige14:45 Ba) (REAEHSE)
15:20 283 150.0 2.888 B 1Ri%e15:20 B3 (GREMEEEE)
15:55 283 150.0 2. 888 e Rige15:55 Bz (REAERSE)
16:40 283 150. 0 2.888 | {BRig016:40 B3 (GRPERKSE)
24it]5094.0 (18%%) 2700. 0 3ESHKEC: 2080.0, PH: 6.0

MEREHERE STMAREARS (184.0 : 153.0), AIREHTF—@E XAH4
ZRIALBRIERE153.0 ml.
FHEHECE (1927.0 vs 3885.0) 145



P3-10_0, Day=67 (2025-06-08)
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P3-10

BriE) | EBIATK (D) | EHE (EH/H) | BEBRERE (/R |[XKS ERE

07:00 283 150.0 2.888 RS {Ri%@07:00 Bzl (REERER)
07:35 283 150.0 2.888 B 1Rige07:35 Bzh (REEESE)
08:10 283 150.0 2. 888 RS {Ri%e08:10 Bzl (REEREE)
08:55 283 150.0 2.888 A5 {Ri%@08:55 B (RFHEREE)
09:35 283 150.0 2.888 RS {Ri%&e09:35 Bzl (REERSE)
10:15 283 150.0 2.888 RS Rige10:15 Bz (REAEHE)
10:50 283 150.0 2.888 S| Ri%@10:50 Bzl (REERR)
11:25 283 150.0 2.888 B Rige11:25 Bzt (REAERSE)
11:55 283 150.0 2.888 RS Rige11:55 Bz (REAERE)
12:30 283 150.0 2. 888 B Rige12:30 Bz (REAERSE)
13:05 283 150.0 2.888 S| 1Rige13:05 Bah (GREERESE)
13:40 283 150.0 2.888 BE| Rige13:40 Bz (REAEHE)
14:15 283 150.0 2. 888 B Rige14:15 Bz (GREAERSE)
14:50 283 150.0 2.888 S| 1Rige14:50 Bah (REERESE)
15:30 283 150.0 2.888 el Rige15:30 Ba (REAERE)
16:10 283 150.0 2. 888 BE| Rige16:10 Bz (REAEESE)
17:05 283 150.0 2.888 S| Ri%e17:05 Bz (REERER)
2it] 4811.0 (17%) 2550. 0 3EUHKEC: 2080.0, PH: 6.0

MEREHERE STMAREARS (184.0 : 153.0), AIREHTF—@E XAH4
ZRIALBRIERE153.0 ml.
FHEKECE (1877.0 vs 3532.0) 45



P3-10_0, Day=66 (2025-06—07)
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P3-10

ByiE) | EBIAT (FD) | ERE (EA/4) | EREE(B/R) | XS EFRF

06:30 283 150.0 2. 888 BE| {RRi%006:30 Bz (REEHSE)
07:05 283 150.0 2.888 RS {Ri%@07:05 Bz (REERER)
07:50 283 150.0 2.888 B 1Rige07:50 Bah (REEEER)
08:35 283 150.0 2. 888 RS {RRi%e08:35 Bz (REAEREE)
09:10 283 150.0 2.888 RS Ri%@09:10 Bzl (REERR)
09:45 283 150.0 2.888 RS {RRi&e09:45 B (REAEHE)
10:20 283 150.0 2.888 RS Ri%@10:20 Bz (REAERE)
10:50 283 150.0 2.888 S| Ri%@10:50 Bzl (REERR)
11:20 283 150.0 2.888 B Rige11:20 Bz (REAERSE)
11:50 283 150.0 2.888 S| Rige11:50 Bz (REAERE)
12:20 283 150.0 2. 888 B Rige12:20 Bz (REAERSE)
12:50 283 150.0 2.888 | 1Rige12:50 Bah (REERESE)
13:20 283 150.0 2.888 RSl Rige13:20 Bz (REAEHE)
13:50 283 150.0 2. 888 B Ri8e13:50 Bz (REAERSE)
14:20 283 150.0 2.888 B Rige14:20 Bz (REAERSE)
14:50 283 150.0 2.888 BE| Rige14:50 Bz (REAERE)
15:25 283 150.0 2. 888 BE| Rige15:25 Bz (REAERSE)
16:00 283 150.0 2.888 S| Ri%e16:00 Bzl (REERESR)
16:40 283 150.0 2.888 S| Rige16:40 BHal (REAEHSE)
23t 5377.0 (19%) 2850.0 3ESHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEEARTF (184.0 :

ZRIAEBRERE150. 0 ml.

HEEHECE (1820.0 vs 3380.0) 15

150.0), FAEEHT—@ % XA HS




P3-10_0, Day=65 (2025-06-06)
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